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~X =
(
−y

x2+y2 ,
x

x2+y2

)
en Ω = R2 \ (0,0)

C
{

x = cos t
y = sin t

ya vimos que
∫
C
~X
−→
ds = 2π 6= 0

⇒ ~X no es conservativo en Ω (no tiene potencial)
⇒ LX = − y

x2+y2 dx + x
x2+y2 dy no es exacta
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dem 3 ⇒ 1

Suponer
∫
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~X
−→
ds =

∫
C2
~X
−→
ds

Fijar P0 = (x0, y0, z0)

Definir f (x , y , z) =
∫
C(P0,P)

~X
−→
ds
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4x
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~X
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ds −
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C(P0,P)
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1
4x
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1
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∫ 4x

0
A(x + t , y , z)dt

= A(x , y , z)
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